
Geog your memory - Rivers   

Exam Q’s: 

1. Explain how a large amount of immigration is likely to create challenges for coutries recieiving migrants such 

as the USA (5) 

 

2. Explain why there are low rates of natural population growth in MEDCs such as the UK (4) 

 

3. Suggest problems which are likely to occur in Africa as a result of its population growth. (5) 

 

4. What does population density mean? (1) 

 

5. Describe the impacts of over-population on a country? (4) 

 

6. For a named country you have studied, describe a policy which has been used to influence its population 

growth rate. (7) 

Key Terms Definition 

Birth Rate  

Death Rate  

Life Expectancy  

Natural Increase   

Literacy Rate  

Pop Distribution  

Pop Density   

Economically active   

Dependents   

Infant Mortality Rate  

Growth Rate   

  

  

  

  

 

 

 

 

 

 

What does the DTM show: 

 

C/S: Underpop - Australia  C/S: Rapid Pop Growth - Kenya  C/S: Pop Decline- Russia  

C/S: Overpop - Bangladesh  C/S: Pop Policy - 1 Child Policy   

Migration: (Causes, Impacts on host/origin) 

 

World Pop Density: 

 

Causes of global Pop increase: 

 


